PRGRLSH [F-ma—2A]

PR B A 4 5% 6H25H (H) NFHY )= 5T
BEFE BT iR ZMANEL 63N (B 49N - £t 140)
HDCP LR : tARSS IR o L
FHa2—A: H @F /1
FUEMLRE . ~—TF v b (NS VIE) DR : 4% 54 6H25H  (H)
JEHL BINE L th [if] GROSS | HDCP | NET % NEAE BMEA tH [ii] GROSS | HDCP | NET %
WG 38 | 39 77| 11.1] 65.9 41 {ir | AR ik 39 | 41 80| 4.0/ 76.0
HEEERE K FT 42 41 83| 17.0| 66.0 42 {if | Yl 7 41 42 83 6.6 76.4
(3 fir | A4 i 36 | 39 75] 7.0] 68.0 43 fir | A3E L 12 | 46 88| 11.3] 76.7
4 LRkl s 41 40 81| 12.7| 68.3 44 fir | HF FIIRE 43 50 93| 16.0{ 77.0
£ | bEE HT 40 | 45 85| 16.0] 69.0 o o R B 53 | 44 97| 19.5| 171.5
(6 fLyR FuE 40 39 79 9.9] 69.1 46 AL | KT B 45 41 86 8.21 77.8
R LEER 37 39 76| 6.6 69.4 47 i | fegE HA 45 45 90| 12.1] 77.9
o8BI A BEE 36 37 73|  3.4| 69.6 48 fi | RAMR EhE 47 48 95| 16.8| 78.2
9 fir M ERF 45 47 92| 22.1| 69.9 49 fif [ #acp FR 48 43 91| 12.5| 78.5
A0 ALY B JRE 45 45 90| 19.1] 70.9 50_hol FIR FET 48 47 95| 15.6| 79.4
11 {if [ Fex A EB 44 40 84| 12.9| 711 51 fir | Tig #— 48 49 971 17.6] 79.4
12 i | (Ll 188 46 44 90| 18.9| T71.1 52 fif | BEE E£X 43 49 921 12.6| 79.4
13 {if | $HE JA 40 44 84| 12.8| 71.2 53 fir | Bw)ll B#A 52 44 96| 16.3] 79.7
14 fif | & ——= 43 39 82| 10.5| 71.5 54 f | /ME EE 51 50 101f 21.3| 79.7
15 fry | &k 42 16 88| 16.2| 71.8 (55 | )l —% 50 51 101; 20.9| 80.1
16 {7 | %~ 0 FH 50 44 94| 21.8| 72.2 56 fi | B F 44 46 90 9.6] 80.4
17 fr | TH 6% 46 42 88| 15.8| 72.2 57 fir | JLEFIE SLME 42 48 90 9.6] 80.4
18 fif | (R BT 44 49 93| 20.6| 72.4 58 fiL| T3 5 46 49 95/ 13.3] 8L 7
19 fi7 [ R T 43 49 92| 19.6| 72.4 59 fi | BFH HE 49 52 101} 18.7| 82.3
20 _fin| faws F#AE 41 42 83| 10.5| 72.5 (60 fin| A B 47 | 49 96| 13.2| 82.8
21 fir | E#B IER 42 43 85| 12.3| 72.7 61 fif | RE E—H 49 40 89! 6.1| 82.9
22 fir |FEHL s 45 45 90| 17.1| 72.9 62 fif | HF FEHR 51 49 1000 17.0{ 83.0
23 {if | Mk F) B 44 42 86| 12.9| 73.1 63 | F & = 45 47 92 6.8] 85.2
24 fir | F¥E BT+ 43 44 87! 13.9| 73.1
25 {in| i A 47 | 50 97| 23.8] 73.2
26 fi |[#4 AHB 44 44 88| 14.7| 73.3
27 ff |5 hT 46 48 94| 20.6| 73.4
28 L |H5H M 43 41 84| 10.3| 73.7
29 i | K 1% 43 43 86, 12.3| 73.7
30 (n| HFE R 42 43 85/ 11.1| 73.9
31 {if | {HPN FEAE 38 43 81! 7.0] 74.0
32 i | EH R 43 42 85| 10.5| 74.5
33 {if [fex AR #k 47 41 83| 13.21 74.8
34 | FE #F 45 45 90| 15.2 74.8
35 fLd B HiE 45 43 88| 12.7{ 75.3
36 (i | /vHE 50 44 94| 18.5| 75.5
37 fr | Pl EiR 42 45 87| 11.3]| 75.7
38 i | E {E=] 44 44 88| 12.2| 75.8
39 fif |Hex A B 42 46 88| 12.2| 75.8
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BGRLEM [HE—oR=—2R]

BAfEE T : &0 5% 6H25H (R) NEH b )= 5T
BTk HE AT R ZIMAE - 62N (Btk:57TA - &tk :5A)
HDCP - : B0 $TH 4
fEH=—=: %® & 1/1)
FUBALIEE :  ~—T %y b (hEWE) FoRml : %0 54F 6H25H (H)
72 BINEAL i) il GROSS | HDCP | NET fi= JELT SMEL [ié) i) GROSS | HDCP | NET 1 %
SEEE R 41 45 86| 18.2| 67.8 41 fir | A ff BIX 48 42 90| 13.2] 76.8
BONEE 1B 41 43 84| 15.5| 68.5 42 {7 | B4 B— 40 41 81 4.2| 76.8
(L} fEA JER) 39 45 84| 15.4{ 68.6 43 L #)I = 48 48 96 19.0| 77.0
L EEH R 46 42 88 19.01 69.0 44 fiL | A2 Zmk 44 45 89, 12.0| 77.0
mi =% 45 43 88| 18.4| 69.6 45 [ xR K= 43 46 89 12.0| 77.0
AT T 39 40 79 9.4 69.6 46 fr | Al = 43 41 84 6.7] 77.3
ry B AGER 41 40 81| 10.4| 70.6 47 {iL | B BH T 51 57 108! 30.3] 77.7
hi| R B+ 41 39 80 9.3 70.7 48 fir | [EA EZ 44 41 85 7.00 78.0
9 fif {#aAe IERL 43 42 85| 14.2| 70.8 49 fif | = Ffy 48 44 921 13.9, 78.1
0 {ii| 1fE il 40 39 79 8.0 7L.0 50 fin| |k 47 40 87| 8.7, 78.3
11 fir |2 A 40 42 82| 11.0] 71.0 51 fir | JIIFF 7 46 47 93| 14.5| 78.5
12 {7 { ALl FnE+ 52 50 102 30.8| 7.2 52 if | B P& 46 45 91| 12.2] 78.8
13 fif | A 41 41 82| 10.8| 71.2 53 {if |2 K H— 41 48 89 9.9/ 79.1
14 {7 | [UE 5 42 42 84| 12.7| 71.3 54 fif | L& 42 45 87 6.6] 80.4
5 ho B AE 52 49 101 29.5| 71.5 55 o) EM B 43 43 86| 5.5 80.5
16 i |%jE BR 45 46 91| 19.5| 71.5 56 {7 | HePfE AF 49 41 90 8.9/ 81.1
17 fir |EA #|/E 42 45 87! 15.0| 72.0 57 i | LLIRF {5 49 50 99| 17.9] 81.1
18 fif |t HE Rk 40 44 84| 11.9]| 72.1 58 fir | -®F —al 49 45 94| 11.3] 82.7
19 fif | k= 4 43 42 85| 12.7| 72.3 59 {ir | =E %58 50 48 98| 14.9/ 83.1
Db RE BR 40 | 38 78] 5.6| 72.4 0 hr) o BE 46 | 51 97| 11.9| 85.1
21 { |5 o 39 44 83| 10.6| 72.4 61 fif | H3E & 50 50 100 14.2] 85.8
22 i | P 41 40 81 8.5 72.5 62 fif | {EiE 3L 52 51 103| 16.8] 86.2
23 fir [ Hrl A 48 38 86, 13.4| 72.6
24 fLi=F ®W— 42 44 86F 13.1{ 72.9
95 (0PI £ 41 41 82| 89| 73.1
26 7 | IR PR 44 39 83 .71 73.3
27 i | Ak Ak 43 47 90| 16.7| 73.3
28 i | KAMR #E 46 42 88| 14.6| 73.4
29 fi | P& HF) 44 45 89| 15.8| 73.4
80 fin M EX 44 42 86| 12.4] 73.6
31 hL | ATE 40 42 s2| 83| 73.7
32 iz (Bl Bk 44 48 92| 17.9| 74.1
33 4 | AT FE 45 48 93| 18.6] 74.4
34 fir | AP BEE 44 45 89| 14.5] 74.5
@5 0| R EH 47 | a2 80| 13.7] 75.3
36 I | ikl e 41 | 40 8l 5.7] 75.3
37 4L {ERE 1 47 47 94| 18.6] 75.4
38 i |/l FFA 43 46 89| 13.5| 75.5
39 fif [fEx K TE3E 48 39 87 10.9| 76.1
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FRSGEH FE-h=a—=]

B A A afn 54 6H251 (B) NFA b ) —25F
B Fro< U 7 (R EEHDEE 5) SN 62N (BHE :BTA - &fE:5AN)
HDCP _1[R : o0 $748%: L
BLE—A: FHO20000 F DOWweB® 1/ 1
FUNEMIRE :  ~—7% v b (UhEWVIE) DRI : 40 548 6A258  (A)
JB4E BINEA k) i GROSS | HDCP | NET % JIEAT SnE 4 i) an GROSS | HDCP | NET %
B IR HE 37 37 74 117, 62.3 41 fif | THE SCHE 43 44 87| 10.2| 76.8
E@; M HET 38| 4l 9] 14.4] 64.6 12 fir | Sl 65 8| 42 90| 12.8] 71.2
(3 X TEM ElG 39 40 79| 13.3] 65.7 43 {7 | )| #5 47 43 90| 12.5| 77.5
(4 fird it Be=pp 37 39 76 9.6] 66.4 44 LA fE— 52 51 103| 25.3| 77.7
RPN 2 | 41 83| 15.5| 67.5 4 fp esn i 48 | 43 91| 13.0| 78.0
6 fird mil ok 39 42 81| 13.2] 67.8 46 fir |[7EX ¥ 46 41 87| 8.8] 78.2
ST KR 1E 43 44 87! 19.1] 67.9 47 fif | 4258 Fnik 47 45 92| 13.6| 78.4
ERVALLE 46 38 84| 15.8] 68.2 48 fir | #h & 46 42 88 9.2 78.8
9T E RE 0 | 42 82| 13.8| 68.2 49 fir | b4t FE 48 | 48 96| 17.1| 78.9
10 | KB Kk 45 42 87| 18.3] 68.7 (50 fif | 3I%chk B 45 48 93] 14.1| 78.9
11 fiz | FHL @A 38 41 79 9.7 69.3 51 fir | MMEE (7= 47 51 98] 18.6] 79.4
12 fif | Rom i 41 38 79 9.1] 69.9 52 {ir | FHME WK 51 47 98| 16.3| 81.7
13 {if | pifA ZhE 43 42 85| 15.1| 69.9 53 fiL | A Fik 49 55 104] 22.3] 81.7
14 {i7 | A fHg 41 36 77 6.9 70.1 54 fir |#EQ #B 50 47 97| 13.8| 83.2
15 fiL | ik B 42 41 83| 12.8| 170.2 55 fit | &)1l 2 51 48 99f{ 15.7| 83.3
16 i |34 30F 46 43 89| 18.7| 70.3 56 fif | {EFMET M 50 55 105 21.6{ 83.4
17 i | A 5= 51 42 93| 22.6| 70.4 57 {if | HMT 258 50 47 97| 12.2| 84.8
18 {i | XM Ef0 49 40 89| 18.5| 70.5 58 fif | /INEJR —FF 51 52 103 17.9| 85.1
19 {7 |#AL Bl— 48 47 95| 24.0| 71.0 59 {if | Kfig 5= 57 50 107 16.3] 90.7
20 fr | M FF 45 44 89| 17.7| 71.3 60 fi| /Ml —H 54 58 112{ 16.1| 95.9
21 {if | H5H HiE 49 44 931 21.4| 71.6 RS £ 50 49 99| 19.2| 79.8
22 fif |VK ET 43 46 89| 17.4| 71.6 ol & 50 41 91| 13.2| 77.8
23 L | N = 47 46 93} 2.3 TLT
24 {7 | B E 42 38 80 7.6 72.4
25 {iL | F=E {HES 41 47 88| 15.3| 72.7
26 | Tik S=HE 44 46 90| 17.2| 172.8
27 fL|UF 8% 50 44 94f 20.9| 73.1
28 iz | HEf BATF 45 49 94} 20.7| 73.3
29 fif | Ay RKAR 47 43 90| 15.7| 74.3
30 fif|AO E 47 49 96| 21.6] 74.4
31 fir | FEH il 46 42 88| 13.3| 74.7
32 L | ESAR B 52 55 107} 32,37 74.7
33 iz | HF &HiFAH 44 50 94| 19.1{ 74.9
34 0 | Edm R 46 44 90| 15.0{ 75.0
35 i | B9 47 49 96| 20.7| 75.3
36 fir | RES WA 6 | 47 93] 17.6] 75.4
37 (L IUTF (=2 51 49 100{ 23.91 76.1
38 fir |HEH Bk 47 44 91| 14.8| 76.2
39 {7 |ATH & 47 40 871 10.7| 76.3
3 7
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G40 fir| k3 %L 50 | 45 95| 18.




